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Circle the correct answer:-
- 1 Aasaal) LY ey Jea Bl pa

1) Use the Box Plot to find el g3 geaiall aadin) (1
the approximate value of the | 4 8l 4adll slay) (A8 as ll g gall
median ? ¢ o gl

A)
B)
¢)
D)

2) by using the probability xd (Aial) il Jeaa aladiuly (2
distribution ,find the $ Jaall il adY) aa
standard deviation

X 1
p(x) | 0.2

0.1

0.3

0.4




3) Approximate the mean
and median for following
distribution of data

& sl gl g Jaa o) Ao B (3
(A clibd)

7

6

5
4
3
2
]
0

4 8 12

16 20 24 28

A) | Mean =20 Median

= 24

B) | Mean =18 , Median

=29

C) | Mean =19 , Median

= 24

D) | Mean =24 , Median

= 28

4) Find the shaded area for
normal distribution in the
shape?

o sill Allaal) dshaial) dabla 3250 (4
¢ slaall M\gawhl\

34%

47.5%

13.5%

49.85%




5) Determine the continuous (ra Jualiall () gpdad) padial) 2aa (5
random variable among the ¢ ALl 4 glall & padall (o

following random variables?

A)

The number of cars in your school was randomly

.selected
Al gdis Cbgh 8 W LA a3 i jaa G gay i ) 20

B)

Number of emails one day arriving at your school
i jaa A Jaal Al La 2 gl (A g 2SN b pul) Jibay 22

C)

Time to serve a customer a meal at a restaurant
Lnea.h.agé[)ahjl\ Ay @%L@Jﬁﬁﬂdﬁ.ﬂd\ <9 o)

D)

Number of attendees to your school's parents’ for a
meeting

clolaiay) Y dlinjiey jgal) syl plaal jgdal) s

6) If z=2,X=54,06=2.5 z=2,X=>54 ,u) (6
,Then The value of p is equal god p dad b g =25

A)

54

B)

49

¢)

256

D)




7) If the survival rate of a
tree is 90%, and only 5 trees
are planted in a garden,
what is the probability of 4
at least of them surviving ?

ad o b oad el Jaea QS 1Y) (7
Jadl 54s) ) &g ¢ 90% (s sbw Bl
agia 4 sy Jlaia) Lad (dfaa JA)a i

Blall ad Jdo JBY) e

A) | 0.3281

B) | 0.6561

c) | 0.3871

D) | 0.9185

8) Which one of the following
is not properties of standard
normal distribution

ol d e el by e Ul (8
el g.a,,\,\hl\ &5l

The area under the curve equal 100%

%100 (s sbud Aaial) cial daluall

Mean = median = mode

Jsiall = Jasw ¢l) = Jan gl

The distribution is symmetrical

Jilaia a3l

Mean = 1, standard deviation = 0

0=L§J\:\MM J‘JAJY‘ ¢ 1=b~4\9ﬂ




9) Find the interval of z- Aalue; dbasi yall 7 a5 y3 224 (9

values associated with area
Middle 50% of the data

Uil e Ao sl 50%

N

[— 0.25

le—— 075

4) [-0.67<z<0.67

B) [-0.01<z<0.01

C) |1-1.34<z<1.34

D) |-1<z<1

10) In a survey, it was found that
48% of students prefer objective
exams. If a random sample of 10
students is selected, what is the
probability that 7 of them would

prefer objective examinations?

O aag ¢ gl gl A (10
Osbady o3kl (e 48%

DR a5 )] A guda gal) cililaiaY)
Lad ¢ ol 10 (e 4l pdie die
Qslady agia 7 058 off Jlaial

¢ e g gall cililatial)

A)

B)




11) For the function f below find
the limit lim6+ f(x)
x— -

fAadall Al Jail) aladiads (11
lim  f(x) 4ad La ¢ oL

x— —671

does not exist
B9 ga &

12) By using the following table
Estimate the limit lirr?; f(x)
X—

Tad pili b G Jgaall aaiiad (12
¢ lirrgi f(x) 4
X—

2.9 2.99 | 2.999

3.001 | 3.01 3.1

X
f(x) | 47 | 4.97 | 4.997

5.003 | 5.03 | 5.3

A | 3

B) | 4.5

o) | s

does not exist




13) Find the limit of the sequence
which the general term
_ (2n-1)3
n T 2n343

Was Al dagliial) dlgs 24 (13
_ (2n-1)3 |
n T 20343

A)

B)

¢)

D)

. x3-5x%2—-4x+20
14) Evaluate lim™——=
x-5 x—5

. x3-5x*—4x+20 4 -
lim™— A L (14

x—5 x—5

A | 21

B) | 29

o | 1
21

D) | does not exist
Bagdsa

15) Find the antiderivative
f(x) =8x"+6x+1

A)all dusal) ABLELN 22 (15
f(x) =8x"+6x+1

A) | F(x) =56x°+6

B) | Fx)=x8+3x*+x+C

Fx)=x8+6x*+x+C

Fix)=x8+3x*+x+C




16) Find the derivative f(x) = = | f(x) = = 4 d&is (16

X xt

A)

B)

C)
D)

17) If [‘kdx =16 ,then the | “ad o [“kdx = 16 sy (17
value of k equals g9\ k

A | 8
B) | 16
o) | +4

D) | 4

18) Evaluate Jalsil aa gl (18
J2x73(3x° + x3 — 1)dx J2x73(3x° + 23 — 1)dx

2
4) B34+2x P ——=+C

1
B) 2x3 +2x——=+C
x

1
2x3 +2x+—5+C
X




D 2
) x*+2x——+C
x

19) Approximate the area of
the shaded region for the
function f(x) = 4x — x*and
the axis on the interval[0,4] ,
using right endpoint region
and 4 rectangles

Z\J\.\S\u.'m'u”la,.d\ Jé Jiag (19
f(x) = 4x — x>

Aada (g B guanal) Adkial) dabies 8
¢ [0,4] 34 Jo clivadl )saag A1l
Al aladinly g cdlaioi 4 aladiuly
A\l j) paadl Juaties JS Bacldl el

4) | 32

3

B) | 10

o) | 11

D) | 4

20) Find the area of region
between the graph

f(x) = 3x% + 1and the x-axis
on theinterval -1 <x <2

O b panal) Aihaial) alowa La (20
f(x) = 3x% +1 A hada

—1 < x < 388 A aliuad) sy
s M\géz







